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Chapter 1 Practice Exam: This Is Geography (2018 v.1)
1. (AP) The word "geography" literally means 

(A) the study of space. 

(B) earth study. 

(C) people and nature. 

(D) earth writing. 
(E) human ground. 
2. (AP) As an academic discipline, human geography is principally concerned with the 

(A) nature and meaning of place names 

(B) impact of the environment on human understandings and activities 

(C) evolving character and spatial organization of human activities and the reasons for that organization
(D) absolute location of places, peoples, and processes on Earth’s surface 

(E) construction of maps that depict places, peoples, and processes as accurately as possible

3. (AP) Which of the following refers to the study of the relationship between the physical environment and culture?

(A) Central place theory 

(B) Ecosystem analysis 

(C) Culture history 

(D) Cultural ecology 

(E) Polytheism 
4. (AP) All of the following are examples of the spatial analysis tradition in geography EXCEPT the

(A) number of space shuttles constructed

(B) volume of telephone calls between Corey Union and Old Main

(C) trans-Atlantic slave trade

(D) distance associated with shopping trips to area malls

(E) volume of air traffic between London and Hong Kong
5. (AP) Regionalization is to geography as

(A) composition is to music

(B) description is to literature

(C) exploration is to geology

(D) periodization is to history

(E) characterization is to drama
6. (AP) The cultural landscape can best  be defined as

(A) the types of art, music, dance, and theater practiced in a particular region

(B) the ways that people in differing cultures perceive the environment

(C) the imprint of human activity superimposed on the  physical environment 
(D) the diversity of distinctive cultures within a particular geographic area

(E) a particular area within a geographic region dedicated to cultural activities
7. (AP) Which of the following is an example of a cultural landscape?

(A) Coastal wetland

(B) Cloud forest

(C) Stand of mangrove trees

(D) Eroded shoreline

(E) Adobe ruins
8. (AP) The physical location of a place as described by the Earth latitude-longitude grid, Township and Range, or some other coordinate system is called its:

(A) relative location

(B) absolute (or mathematical) location

(C) referenced location

(D) grid plan

9. (AP) The location of a place in relationship to other places or features around it is called:

(A) absolute location

(B) site

(C) situation / relative location
(D) index of placeness
10.  (AP) Which of the following defines Chicago’s position in relation to the infrastructure of the United States?

(A) Site

(B) Situation

(C) Absolute location

(D) Vernacular region

(E) Transition zone
11. (AP) Which of the following is a term used in the study of place names?

(A) Isonyms

(B) Phenonyms

(C) Acronyms

(D) Toponyms

(E) Loconyms
12. (AP) Toponyms in southern California reflect which of the following?

(A) Cultural heritage of the settlers

(B) Importance of time-space convergence

(C) Growing influence of globalization

(D) Significance of locational theory

(E) Role of popular culture in American society
13. (AP) The diffusion pattern of Walmart stores, which have spread from small towns to large cities throughout the United States, is an example of

(A) relocation diffusion

(B) contagious diffusion

(C) stimulus diffusion

(D) distance decay

(E) reverse hierarchical diffusion
14. (AP) Sometimes a diffusion process encounters barriers that slow or stop the spread of an innovation. Which of the following is an example of such a barrier?

(A) A lack of infrastructure to support a new technology

(B) A change in the price of energy

(C) A jump from contagious to hierarchical diffusion

(D) A transition from stimulus to contagious diffusion

(E) A new form of media to broadcast information
15. (AP) In descriptions of interaction between people and the environment, the term “environmental determinism” implies that

(A) the physical environment exclusively shapes humans and their actions

(B) humans by their actions and technologies alter the physical environment to suit their needs

(C) determination of environmental limitations is a primary task of geographers

(D) capitalist economies do not contribute to global environmental degradation

(E) there exists no interacting relationship between people and their surrounding physical environment

16. (AP) The notion that cultural factors are the product of environmental conditions (e.g. the ancient Greek idea that Europeans were fierce and brutish because of the cold climate), is an example of:

(A) environmental prejudice

(B) modern environmental psychology

(C) environmental determinism

(D) possibilism
[image: image16.png]= Pump
» Deaths from cholera.





17. (AP) The map shown above best fits which of the following map types?

(A) Choropleth

(B) Cartogram

(C) Proportional symbol

(D) Dot symbol

(E) Isoline
18. (AP) Which of the following cartographic (map) scales would be most useful for studying patterns of global migration?
(A) 1:30,000,000

(B) 1:1,000,000

(C) 1:750,000

(D) 1:125,000
(E) 1: 10,000

19. (AP) A straight line on a navigation map using the Mercator projection represents

(A) the shortest distance between two points

(B) a line of constant compass bearing

(C) the distance from the prime meridian

(D) the distance to the international date line

(E) travel time between an origin and a destination
20. (AP) On a Mercator projection map, where will you find the landmasses most exaggerated in relative size?

(A) Near the poles 

(B) Near the prime meridian 

(C) Near the equator 

(D) Land masses aren't exaggerated on a Mercatcar
Questions 21-22 refer to the following statement.

Twenty-four specific objects transmit complex radio

codes, including time signals traveling at the speed

of light. You can contact at least 4 of the 24 objects

at any time of day or night.

21. (AP) The statement above refers to which of the following?

(A) GIS stations

(B) NTMs for chart use

(C) GPS satellites

(D) GNIS entries

(E) TIR scanning systems
22. (AP)(MM)  The technology described above allows the determination of which of the following?

(A) The amount of detail that can be shown on a topographic map

(B) Absolute location on the surface of Earth

(C) The number of layers that can be accommodated in a geographic information system

(D) Distances from radio transmission towers and subsidiary satellite dishes

(E) The weather forecast for any area

23. (AP) The layering of geographic data by computers into data sets (called “mash ups”) is known as:
(A) GPS

(B) ENSO

(C) RSS

(D) GIS

(E) GNI
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24. (AP) In the distance decay function represented above
(A) the friction of distance has little effect on interaction. 

(B) interaction is related to the position of a central place. 

(C) distance imposes a significant barrier to spatial interactions. 

(D) topological space acts independently of distance. 
(E) absolute decay is different than relative decay.

25. The branch of geography that focuses upon the topography, climate, soils and vegetation of the Earth is:

(A) cultural geography

(B) human geography

(C) physical geography

(D) biogeography
26. What are the four questions we will ask as we study the many themes (look at the pretty posters!) in our course this year?  
(A) What? When? Why? Who?

(B) Where? How? Why? Who?

(C) What? Where? Why there? So what?

(D) Who? What? Where? When?
27. Human geographers consistently ask 

(A) where and why questions. 

(B) when and where questions. 

(C) how and what questions. 

(D) when and why questions. 

(E) when, who, and what questions. 
28. Cartography is the art and science of 

(A) demographics. 

(B) map-making. 

(C) spatial orientation. 

(D) cognitive imagery. 

(E) spatial decision making. 

29. The 19th century view that primitive societies, especially those located in the equatorial latitudes, were inferior and culturally lethargic because of the hot climate in the tropics, is an example of:

A) environmental prejudice

B) modern environmental psychology

C) environmental determinism

D) environmental possibilism

30. The concept that the physical environment limits human actions, BUT that humans can and do adjust within those limitations is called
(A) climate

(B) environmental determinism

(C) possibilism

(D) spatial association

(E) cultural ecology
31. Which of the following statements about possibilism is true? 

(A) Modern geographers reject it in favor of environmental determinism. 

(B) It posits that the environment causes social development. 

(C) It rejects the idea that humans can alter their physical environment. 
(D) It posits that people choose from many alternatives within limits set by the physical environment.
(E) It posits that the physical environment in no way limits human culture.
32. (MM) Prior to European colonization, different Native American populations in what became the Southwest U.S. evolved different forms of economy, some becoming pastoralists (herders), others sedentary farmers, others hunter-gatherers. This can be explained by which geographic concept? 

A) possibilism 

B) environmental determinism 

C) natural isotherms 

D) expansion diffusion 

E) distance decay
33. The process of the increasing international integration and interdependence of the world’s cultures, economies, and politics, is known as 

(A) interaction. 

(B) integration. 

(C) democratization. 

(D) globalization. 

(E) all of the above. 

34. Which of the following statements about globalization is accurate? 
(A) It has largely affected the economy at the global scale and culture at the local scale. 

(B) It has made different places more similar. 

(C) It has reduced the instances of terrorism in the world today. 

(D) It has insulated local economies from economic downturns in other regions. 

35. Which of the following statements about globalization is NOT accurate?
(A) Anti-globalization proponents argue that it tears the fabric weaving local communities together. 

(B) Globalization has encouraged a counter-process of localization. 
(C) The Internet is a driving force behind current patterns of globalization. 

(D) Many argue that it's nothing new but rather a process that's been occurring over the last several centuries. 

(E) It has produced even economic development across the entire globe. 
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36. The map above best illustrates what concept?

(A) Technology gap

(B) Agglomeration economies

(C) Energy consumption

(D) Core versus periphery countries

(E) Neocolonialism
37. The gap in economic activity and wealth between the core and the periphery is known as: 

(A) economic colonialism 

(B) space time compression 

(C) distance decay 

(D) neocolonialism 

(E) uneven development
38. Which of the following characteristics applies 
to more-developed (i.e. “core”) countries?

(A) high infant mortality

(B) long life expectancies

(C) high total fertility rates

(D) rapid population growth

(E) high percentage of population under 15 years of age

39. Which of the following is NOT a characteristic of less developed (i.e. “periphery”) country?
(A) very young population
(B) lower GDP/capita than core countries
(C) more rural population than core countries
(D) exporting of high quality finished goods to core countries
(E) exporting of raw materials to core countries
40. Geographers describe the location of a place by: 

(A) absolute (mathematical) location
(B) toponyms (place names)
(C) site
(D) situation
(E) all of the above 
41. (MM) The combination of the unique physical characteristics of a specific location (including but not limited to mathematical/absolute location) is referred to by geographers as 

(A) absolute location
(B) relative location. 

(C) the regionalization process. 

(D) site. 

(E) Situation

42. Chicago's site has not changed but its situation or relative location changed markedly in 1959 because:

(A) Lake Michigan shrank.
(B) seismic activity dramatically altered its topography.
(C) the St. Lawrence Seaway was opened.
(D) Chicago’s climate suddenly became much drier due to a drought.

(E) Chicago shifted 5.4 miles NE due to an earthquake

43. (MM) Where something is located in relationship to its surroundings  is referred to by geographers as
(A) relative location. 

(B) situation. 

(C) site. 

(D) absolute location
(E) A or B
44. Geographers study toponyms because they
(A) often describe the physical characteristics of a place.
(B) may reveal something of the history of a location.
(C) suggest what people in a place value or take pride in.
(D) communicate what activities take place in a location.
(E) all of the above

45. Distribution is the arrangement of something across earth’s surface. What are the three ways geographer study distribution? 

(A) arithmetic, physiological and agricultural densities
(B) density, dispersion, and regularity 

(C) clusters, dispersions, and geometric pattern 

(D) density, concentration, and (geometric) pattern
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46. Which two of the four boxes above have the highest density of dots?

A) A, B
B) B, C
C) C, D
D) A, D

47. Which two boxes above have the highest concentration of dots?





A) A, C
B) B, D
C) A, B
D) C, D
48. The idea that spatial interaction decreases as distance increases is known as 

(A) time-space compression 

(B) the gravity model. 

(C) migration transition. 

(D) distance-decay. 

(E) network integration. 
49. The greater the distance from the hearth the less likely an innovation will be adopted. This is referred to as:

(A) inverse innovation rule

(B) adoption avoidance

(C) distance decay (aka friction of distance)
(D) cultural repulsion
50. The concept that the new technologies of globalization shrink the functional or perceived distances between places is called 

(A) time-space compression. 

(B) distance decay. 

(C) friction of distance. 

(D) spatial interaction. 

(E) expansion diffusion. 
51. Which of the following is a TRUE statement regarding time-space compression? 

(A) Places seem to all look the same 

(B) Places seem to be getting closer together 

(C) Places are increasingly concentrated on maintaining their histories 
(D) Places are making a greater effort to converge activities to save time 
(E) Places are getting closer together in space but not in time 
52. The spread of ideas, cultural traits, knowledge and skills from their hearth to other areas where they are adopted is called:

(A) diffusion

(B) adjustment

(C) spreading

(D) cultural invasion
53. Which of the following processes can explain how a new idea, product, or other phenomenon comes to appear in a region? 

(A) independent invention

(B) contagious diffusion 

(C) relocation diffusion 
(D) hierarchical diffusion

(E) Any of the above 

54. Which type of diffusion is NOT a type of expansion diffusion? 

(A) contagious 
(B) hierarchical 

(C) stimulus 

(D) relocation 

(E) All are types of expansion diffusion.
55. Relocation diffusion is 

(A) the rapid and widespread diffusion of a characteristic throughout the population. 

(B) the spread of an underlying principle or idea. 

(C) the spread of an idea from persons of power to other persons. 

(D) the spread of an idea or trait through the physical movement of people from one place to another.

(E) none of the above.

56. Which of the following is an example of relocation diffusion? 

(A) The spread of baseball to Japan. 

(B) The spread of English to the British Colonies. 

(C) The spread of AIDS to the United States. 

(D) The spread of Roman Catholicism to Latin America. 

(E) All of the above.

57. The spread of some phenomenon whereby nearly all adjacent (= “next to each other”)  individuals are affected is an example of:

(A) relocation diffusion

(B) independent infection

(C) contagious diffusion

(D) hierarchical diffusion
58. Rap music eventually spread from the Bronx to large cities with vibrant African-American populations-such as Atlanta, Los Angeles, Oakland, Chicago, and Detroit skipping over the smaller cities and rural areas in-between. This type of spatial diffusion is called 

(A) relocation diffusion. 

(B) hierarchical diffusion. 
(C) contagious diffusion. 
(D) cultural diffusion. 
59. The process whereby new fashion trends typically appear in large global centers (Milan, Paris, New York) and then in other large, wealthy cities skipping over smaller cities and rural areas in between is an example of
(A) relocation diffusion.

(B) contagious diffusion.

(C) hierarchical diffusion.

(D) independent invention
60. Which of following helps to explain hierarchical diffusion?
(A) The total number of potential interactions between larger cities is high due to their large populations.
(B) There is more travel between large urban centers than between smaller settlements.
(C) People in large cities are wealthier, more diverse, and more accustomed to change and risk.
(D) There tend to be well developed networks between power nodes.

(E) All of the above.

61. (MM) If a phenomenon spreads via the internet, it definitively did NOT spread via which of the following types of diffusion?
(A) relocation diffusion

(B) hierarchical diffusion

(C) stimulus diffusion

(D) contagious diffusion

62. The diffusion of the idea of the hamburger to India but with a vegetable patty instead of the religiously prohibited beef  is an example of:

(A) cultural mimicry

(B) relocation diffusion
(C) stimulus diffusion

(D) independent invention
63. All of the following are barriers to spatial interaction and diffusion EXCEPT

(A) a mountain range
(B) no access to broadband internet
(C) an airport
(D) monolingualism (speaking only one language)
(E) poverty
64. The lack of penetration of alcoholic beverages or western dress into Islamic regions due to dietary or sexual taboos illustrates the effect of ______________________ on cultural diffusion.

(A) physical diffusion barriers
(B) economic diffusion barriers
(C) infrastructure diffusion barriers
(D) cultural diffusion barriers

(E) psychological diffusion barriers
65. (MM) Latitude is 

(A) the angular distance east or west of the prime meridian at Greenwich, England. 

(B) the angular distance east or west of the international date line.
(C) the angular distance north or south of the equator. 

(D) useful in determining relative location. 
(E) a measure of social or political freedom. 

66. (MM) Longitude is 

(A) the angular distance east or west of the international date line.

(B) the angular distance east or west of the prime meridian at Greenwich, England. 
(C) the angular distance north or south of the equator. 
(D) useful in determining relative location. 
(E) useful in describing, a place's situation. 
67. (MM) ____________ maps simply show the location of some physical or political features for the purpose of navigation (finding something!), while ___________ maps tell a story by displaying one or more variables across a specific space.
(A) Reference . . . thematic 

(B) Thematic ... reference 

(C) Spatial ... cartographic 

(D) Cartographic ... spatial 

(E) Topologic ... choropleth 
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68. The type of thematic map depicted above that shows the quantities of some variable (in this case infant mortality in Brazil) by shading or coloring regions is called

(A) a cartogram.

(B) a proportional symbol map
(C) a choropleth map.
(D) a dot distribution map
(E) an isoline map.
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69. What type of map is shown above?

(A) choropleth

(B) dot distribution

(C) proportional symbol

(D) isoline

(E) cartogram
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70. A thematic map such as the one depicted above that shows quantities of some variable by shrinking or expanding the sizes of regions is called

(A) an image map. 

(B) a choropleth map. 

(C) a projected map. 
(D) an isoline map. 

(E) a cartogram. 
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71. John Snow’s famous 1854 map (above) showing the location of individual cases of cholera in a London neighborhood is an example of what kind of map?
(A) choropleth

(B) dot distribution

(C) proportional symbol

(D) isoline

(E) cartogram
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72. The lines on the map above represent altitudes of equal value. Maps which use lines to depict equal values of some variable are called

(A) choropleth maps
(B) dot distribution maps
(C) proportional symbol maps
(D) isoline maps
(E) cartogram maps

73. Isolines are common on which of the following?

(A) density maps

(B) population and political maps
(C) maps depicting distribution of cultural characteristics
(D) topographic and weather maps
74. To map the surface of the earth, geographers use different projections because:

(A) no projection can show the entire earth on a single map.

(B) no projection is ideal for the. purpose of every map. 
(C) the appearance of the earth changes with the seasons. 
(D) some parts of the earth haven't been surveyed accurately. 
(E) they don't anymore; all maps are now produced using the same projection. 
75. Map projections can cause all of the following types of distortion EXCEPT: 

(A) relative size (area)
(B) direction

(C) color 

(D) distance between locations
(E) shape 
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76. All of the following are true of the Mercator projection map (shown above) EXCEPT:

(A) A straight line drawn of the map represents a line of constant compass bearing.

(B) The size/areas of landmass are distorted especially towards the poles (high latitudes).

(C) Its greatest disadvantage is that distorts the shape of continents.

(D) It was originally designed for use by sailors at sea but became a standard political map because it exaggerated the size and power of Europe.

(E) Meridians (lines of longitude) never meet on this projection.
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77. The Robinson projection (shown above)
(A) Is considered a “compromise projection” 
(B) distorts both shape and area but preserves both to 80% accuracy.
(C) does not distort the size of continents as much as does the Mercator projection.
(D) depicts the earth’s meridians as bending but not converging at the poles
(E) all of the above
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78. Azimuthal projections (shown above) 
(A) show accurate distances measured from center point outward.
(B) distort area and shape increasingly as one moves away from the center point.
(C) are often called polar projections because they are often centered on either the North or South Pole.
(D) all of the above
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79. The map depicted above is a (an)
(A) Robinson projection. 

(B) Goode’s Homolosine projection. 

(C) Azimuthal projection.
(D) Conic projection. 

(E) Mercator projection.

80. (MM) The ratio between distance on a map and distance on the earth's surface is called the 

(A) projection. 

(B) resolution.

(C) cartographic/map scale. 

(D) scale of analysis

(E) proportionality
81. Which of the following map scales would be most useful for studying the details of geographic features in the landscape of a small farming community?

A) 1:3,000,000

B) 1:1,000,000

C) 1:750,000

D) 1:125,000

E) 1:10,000
82. (MM) An analysis of the dramatic changes in the spatial interactions between places brought on by globalization would most likely begin with an examination of maps at which of the following cartographic scales? 

A) very small scale
B) very large scale
C) medium scale
D) graphic scale
E) written scale
83. Which of the following maps has the largest scale?

(A) a world map

(B) a map of North America

(C) a map of New York City

(D) a map of lower Manhattan (part of New York City)

84. (MM) Which map would have the smallest cartographic scale? 

(A) world 

(B) continent 

(C) state 

(D) city 

(E) neighborhood

85. An area defined by one predominant or universal characteristic throughout its entire area with well-defined boundaries (beyond which the predominant or universal characteristic does not apply) is known as a:

(A) formal region

(B) functional region

(C) statistical region

(D) graphical region

(E) vernacular region
86. Which of the following is NOT an example of a formal (or “uniform”) region?

(A) Dade County, Florida 

(B) Laker Nation
(C) Lucia Mar School District
(D) area within Turkey with majority ethnic Kurds

(E) area with teenage birthrates between 20-25 / 1,000 teenage females

87. Which of the following is an example of a functional (or “nodal”) region? 

(A) a television market 

(B) a time zone 

(C) a county 

(D) a postal zip code area
(E) countries in which more than 50% of residents speak Spanish
88. Which of the following is another good example of a functional region? 
(A) the Bible Belt
(B) the area served by a local bus line

(C) the market area for a Walmart store.

(D) the state of California

(E) an AG student’s hand drawn map of the AGHS campus
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89. The famous New Yorker magazine cover above depicting New Yorkers’ view of the United States is as example of a
(A) perceptual region 
(B) vernacular region
(C) mental map
(D) all of the above
90. Which of the following is true of  perceptual (or “vernacular”) regions? 

(A) They are defined by a person’s subjective sense of place.

(B) They are also known as “cultural regions” because they are based on cultural factors. 

(C) Their boundaries are not always agreed upon. 

(D) They include world regions such as “The Middle East” and “SE Asia”.
(E) All of the above.

91. GPS stands for 

(A) geographic place synthesis. 

(B) global peoples standards. 

(C) geographic positioning science. 

(D) global positioning system. 

(E) geographic polarity system. 
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92. Geographic information systems (GIS) (shown above) use _____________ to display multiple spatial data sets.

(A) thematic layers

(B) cartograms

(C) remotely sensed images

(D) dot maps

(E) isolines
93. The use of earth’s natural resources so that they will be available for use in the future.is called

(A) subsistence agriculture. 

(B) sustainability. 

(C) cultural ecology. 

(D) environmental determinism. 

(E) the organic movement. 

94. The acquisition of data about Earth's surface from a satellites, aircraft, balloons or some other long-distance method is 

(A) GIS

(B) GPS

(C) remote sensing

(D) USGS

(E) digital cartography
95. Remote sensing via airplane and satellite is used to 

(A) forecast weather events
(B) analyze urban sprawl. 

(C) map disasters such as oil spills or fires.

(D) study the spread of desertification

(E) All of the above and much much more such as military and industrial surveillance, measuring soil moisture content, Google Earth, predicting retail earnings by counting cars in parking lots at big box stores, finding lost aircraft or ships, counting polar bears and other threatened species, measuring wind speeds for wind farms, mapping mineral deposits, fish stocks, and other natural resources, catch tax evaders by locating new construction and building alterations, mapping the spread of forest and crop diseases, monitor air quality, unearthing archeological sites, documenting  the effects of global warming including surface and sea temperature, ice loss, and sea level rise, study the loss of rainforests, etc. etc. etc…..
“(AP)” = From released AP exams. (Most likely to be on exam.)


“(MM)”=Most Missed (+25% of students missed this question)








